LEHSY | 1220 Mels 0:'1‘112 e

AT 5d | 0% | 031)229-5786
(o] == "] 2k A |
SRRIXE £R912) 7 ”504?4) d |0l Z ) "ixa| 1ig8045@Kg21.net
_ 031)229-5789
i S
=Sy TN a9 chun6474@kg21.net
°° Moz 031)229-5788

lkunhyo @kg?21.net

1 A7+44('03, 471 %4
Y ZF ol Ayt 7tSesgAe] AAFYTE AAUIS e 29171F)

= _ A JHes A 2L
2 o= Aeite) | 4s@ayioa | NS

A /14 813%
. =5 8L 738 6,069 4613

1009647} = 2 613 5,082 567.3

-

nr | RS 9% 663 7742 6138
(54 | 1000647k 635 7523 6988

% W MEEE 2000 B THs = SAT Y iR

[

iR R
(tH¥] : ha)
L L |AEEe ses gane@)| SAS2A I 2A7 9 (")
T Y sass] snrs |[eeas[nras
[ 0.46 0.99 116 1.36
M b)) 032 0.70 0.82 0.96
% HIHE SYLAS(024) 112748 (S THAE 24,475)
ENTEA HF ZRAE(024) 28,558)3%(7H¢—5— 33,509
2. % Q

O 7lExssAe AARAAITEE 100%A7F=g A =240 0.02ha,

= EAENE
AATFEE 100%A47 == A] =2]0.99ha, 92440, 7ha

oL, EA] FEATH A5EATEE A 1.36ha, REEA 0.96hadd



< >
1. A+ xd 5994 9@ AA
(&9 © x<1/10a)
7 w R I N O I O T Rro
A a9+ B (3 ) 532 934 322 176 61
T 2 (kg ) 7,020 7,085 6,952 101 99
- T 4 4 366 4 407 4324 101 99
F 7 A | 130 1166 1651 87 123
I 4 H] 1,395 1,235 1,695 39 122
23 Ak H] 4016 3,386 47744 34 118
5 7 7F A 3,024 3,241 2,673 107 33
T ol & = 2971 3,172 2,629 107 38
T T 4 350 1,021 -420 292 -120
A A A =5 A 4777 5,666 4,050 119 35
= EAAAA 10,080 10,803 38910 107 33
2} 2 2 & 2.1 2.6 1.6 121 73
kg 3 A A 572 478 682 34 119
e 5 A A 633 572 660 90 104
 AGIEIY F S 25% w7k shel 26% sUrE R
2. WesEd Fo4 2 ANA
(9] - x1<1/10a)
o B2 | ASIB) | 6k SIHC) Y ——T
a9 9 5 (FH ) 532 580 417 109 78
T 2 (kg ) 7,020 8,394 4737 120 67
ot 7} (8/ks) 622 622 622 100 100
- T 4 4 366 5,221 2,946 120 67
7 A | 1ae 1313 1390 %8 101
H] %17 4 H] 1,395 1,389 1,447 100 104
23 Ak H] 4016 3,958 4155 99 103
5 7 7F A 3,024 3,908 1,556 129 51
T ol & = 2,971 3,832 1,499 129 50
T T 4 350 1,263 -1,209 361 -345
A AL A =5 A 4777 5,948 2,646 125 55
= EAAAA 10,080 13,027 5,187 129 51
2} 2 2 & 2.1 2.8 1.0 130 49
kg & A Ay 572 472 877 32 153
A z Al 7k 633 657 588 104 93
s wslp o] wo A9l 25% 7ol Bh§] 259 HobE R
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B/A C/A
= % (kg)| 702 9.266 47763 132 68
= & 9 4,366 5763 2,962 132 68
% 2t A4 1,342 1,252 1446 93 108
T3 9 1,395 1,349 1,503 97 108
o (A4 4w 4016 3,506 4,340 87 108
N [kgd A 572 378 911 66 159
I 3,024 4511 1516 149 50
% = 2971 4414 1459 149 49
F  F 9 350 2.057 “1378 645 394
g = E A3 4777 7195 92,527 151 53
TOE A o 2 4l 10,080 15,037 5,053 149 50
A 2 5 g 21 33 10 154 16
o= Az 633 627 600 99 %
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B/A C/A
7 SEER 532 422 642 79 121
F J (ks ) 7.020 7.987 6.052 114 36
= 7t (9/ke) 622 622 622 100 100
= % 9] 41,366 1,968 3,764 114 36
= ¢ A v 1,342 1438 1245 107 93
I A I 1,395 1492 1.298 107 93
I 1016 4,425 3,608 110 90
EEE 3,024 3,530 2519 117 83
S PN = 2971 3,476 2,466 117 83
s 4 350 543 156 155 15
e A AT A 4777 5,050 4443 106 93
AR R 10,080 11.767 8.397 117 83
R 21 23 19 109 89
ke 2 A A 572 554 596 97 104
Y 5 A g 633 699 567 110 90




